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GENERAL INFORMATION

Features

Construction

AERO SOUND BAR LOUVRE

With a compact depth of 200mm, the Aero is ideal for 
applications in confined spaces.
Tested to ISO7235:2003 proving to be a very efficient sound 
barrier. 
Available in galvanized sheet, aluminium and stainless steel.

The Aero weatherproof accoustic louvre with its aerofoil shape 
blade design creates less air flow resistance to maximize air 
flow into stand-alone plant rooms, return air intakes and 
generator rooms. 
The Aero louvre offers up to 40% more air flow resulting in 
lower pressure drops.

Performance Data

Dimensions

Performance Curves

NEW

STL - Sound Transmission loss NR - Noise Reduction
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The sound power is defined as the rate at which a sound source emits energy.  Since 
12sound energy in everyday situations ranges from 10 -  Watts to 1000 Watts, a 

logarithmic scale is used for practicality; this provides us with a sound power range 
form 0 to 150 dB, which is a lot more manageable.
 
The sound power level is denoted as L  and is defined as:-w
                         (Sound power of source, W)

                         (reference power, 1pW)

                       and is expressed in decibels, dB

Where:

12W=Watts and pW = 10 -  Watts

The sound pressure is what you actually hear and is the effect of the sound power in 
the  hearing environment.  It will be a function of the volume of  the space, its acoustic 
absorption qualities and the distance of the listener from the sound source.
 
Sound pressure level is also expressed in dB and is relative to the quietest sound 
which a healthy young person can hear at 1kHz; 2 x 10-5 N/m2 (or Pa)
 
The sound pressure level, like sound power is expressed on a logarithmic scale and 
denoted as Lp.  It is defined as:
                                                       (Sound pressure, Pa)

                                                 (reference pressure, 2 x 10-5 Pa)   

BS 4718 : 1971 "Methods of Test for Silencers for Air Distribution Systems" requires 
manufacturers to test and publish static insertion loss figures.
 
An insertion loss is defined as "the reduction in noise level at a given location due to 
the placement of a silencer in the sound path between the sound source and that 
location". A static insertion loss is the insertion loss with no airflow passing through the 
silencer.
 
Therefore placing a silencer in between a fan and the measuring position, will reduce 
the noise level at the measuring position by the insertion loss.

Attenuators are tested to BS4718: 1971 "Methods of Test for Silencers for Air 
Distribution Systems". This test standard sets out a procedure for the testing of static 
insertion losses; i.e. the measuring of insertion losses without airflow.
 
Some overseas companies publish dynamic insertion losses; that is the testing of 
insertion losses with airflow involved. At higher passage velocities the static insertion 
loss can vary from the dynamic insertion loss by a small margin, depending on the 
direction of the airflow compared to the noise propagation direction.
 
For typical velocities associated with a HVAC system, the static insertion losses and 
dynamic insertion losses are virtually identical and can be assumed to be the same.

L  = 10log  w 10


